Fill in the Blanks

2D Linear Travsformations

. Description of Object - - Image
e Transformation Point A Matrix Caiculation Point A’
0 0 1 . o . . 0 0 1 5 3
(33 0) | e a2 | (51 0)(3)=(3) e
~1 0 0 Y ~1 0 0/\3 -5
-1 0 O -1 0 0\ /4 —4
( 0 1 0) Reflection in the plane x = 0 (4,0,1) < 0 1 O) (0) = ( 0 ) (—4,0,1)
0 0 1 0O 0 1/\1 1
1 0 O 1 0 O -2 -2
(0 1 0 ) Reflection in the plane z = 0 (-2,4,-1) (0 1 0 >< 4 ) = ( 4 > (—2,4,1)
0 0 -1 0 0 -1/ \-1 1
0O -1 0 . o . . 0O -1 0 2 6
(1 X 0) O ot the s | 2=6.0) (1 0 0> (—6) = <2> (6,2,0)
0O 0 1 0O 0 1 0 0
1 0 O . o . . 1 0 O -3 -3
(0 0 ‘1> ot the womie | (=3,-15) (0 0 —1> (—1> - (—5> (=3,-5,~1)
0O 1 O 0O 1 O 5 -1
1 0 O 1 0 O a a
(0 -1 O) Reflection in the plane y = 0 (a,3a,—a) (0 -1 0) <3a) = <—3a) (a,—3a,—a)
0O 0 1 0O 0 1/ \—a —a
0 0 -1 . o . . 0O 0 -1 5 -2
01 0) P oo (01 0)(3)=(3) | 2o
1 0 0 Y 10 0/\2 5




